z&waﬁmw@aﬁmaraﬁﬁmm
&Y a1 ¥ | 7491 ERY water @ faem & IE

T wET@r 27

(1) wa@reT &1 fawm=

(2) THST FT wEE

(3) WHIIT B qEdA

(4) BT B TATEAA

(5) saT 7 & =med

Preffa & 1 ol 11 @ gafm ¢ -

I Il
dra 1 ™ T|A I
A TgE~_ . 9| =l
B. #¥gam = —— I w3
C. @ I, fireg (F=m)
D. Huel V. ==

(1) A-lII, B-I, C-II, D-IV
(2) A-IIL, B-1, C-IV, D-II
(3) A-III, B-II, C-1V, D-I

A4 A-l, B-1L, C-III, D-IV

(5) Tt & g1 aed

w-1 9 @ g 5el & @w-11 F § 72 53 & 9y

gafa &<
w1 -1

A. @Y .

B. 3T 1. 3gie=

C. aga 1. EEsaiiE 3

D. s V. smEEes

el fomeq g ¢

(1) A-1V, B-1, C-III, D-I1

(2) A-1V, B-I, C-II, D-III

(3) A-l, B-1V, C-III, D-1I

(4) A-1V, B-1II, C-1, D-II

(5) Tu TE I 9Ed

T Y N HTA ST Gere B WibaT HEwwi & —

. ) gad

(2) @

(3) freamaEs

(4) garg

(5) SaT 7 I GEd

Mirror changes the direction of light that falls
on it. This change of direction of light by a
mirror is called?

(1) Displacement of light

(2) Scattering of light

(3) Reflection of light

(4) ‘Reversion of light

(5) Not attempted

Match the following I and I :

I Il
Name of the Organ of
Organism Respiration
A. Human being [. Trachea
B. Earthworm [I. Lungs
C. Insects III. Gills
D. Fish IV. Skin

(1) A-IIL B-I, C-II, D-IV

(2) A-III. B-I. C-1V, D-II

(3) A-IIL, B-II, C-IV, D-1

(4) A-IL, B-1, C-III, D-IV
~(5) Not attempted

Match the items in column-I with those in

column-II :
Column-1 Column-II
A. Salivary gland 1. Bile juice
B. Stomach -~ _IL. Insulin
C. Liver _MI. Hydrochloric Acid
D. Pancreas -~ 1V, Amylase

Choose the correct option :

A1) A-1V, B-1, C-III, D-II
(2) A-IV, B-1, C-II, D-III
(3) A-l, B-1V, C-III, D-II
(4) A-lV, B-III, C-I, D-II
(5) Not attempted

The process of loosening and turning of the
soil is called —

(1) sowing

(2) harvesting

(3) winnowing

(4) tilling

(5) Not attempted

IKSHR / X3 / Page 2
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Pasteurisation of milk is :
(1) Heating of milk to about 70°C for about
SH Uiy 2 30 seconds and then slowly cooling it

TFTE : and storing. :

J}{iﬂ aﬁm‘ M B -y 2= (2) Boiling of milk and then slowly cooling
il b it and storing.

(3) 3 Bl W 70°C RIREIE gt (3) Heating of milk to about 70°C for about
30 &S 'ﬁfﬁ ™ T AT 5y T3 ;:; 30 seconds and then suddenly chilling it
gadd FTH WE mrm and storing.

(4) 34 H A AT frr o Tz (4) Boiling of milk and then suddenly
HAT : B chilling it. ‘

(5) ST T#f =1 aEd _ (5) Not attempted

S Which of the following food items gives
a1 @ 9zd ATEEe 'y _ | 6- wing food
i ’ .__,ji s ER A blue-black colour with iodine ?

7
T b (1) Starch
(1) =rd . Jromie
/ & (2) Mincrals
(2) afa 9E (3) Protein
(3) e (4) Fat
(4) @l : (5) Not attempted

(5) Tt E 2 Wed
7. Typhoid is caused by -
(1) Bactena
A42) Virus

7. sfEwat (Zrwge) fewd oA b

(1) sfrary - (3) Protozoa
2 L] Moz
(3) g a.‘e“ (+) Fungi
t4: (5) Not attempted
&Hdsh 1
(5) saT Y & @red 8. Condensation is the process of —
: . , B &7 (1) Evaporation of petrol
8. ﬁ"dm ¥ w- §I (2) Separation of sand from water by
(1) &1 ATHEHIT ' decantation o
() fruret w@ |/ T Grgﬂ bkl (3) Conversion of water vapour into its liquid
(3) Werarsy @1 FF AR UiSEh form sl
PORGEE L y gfads (4) Conversion of wa;_i{x; into its vapour
(5) Tux & T Q@Ed O (5) Not attempted

fﬁaﬁ fpar STl 7|9, Large scale storage of; grains is done in :

), v :
S W QT 3T &1 WS (1) Silos and granaries__,

'—g; feetrer = EII?IT“T& A (2) Jute bags ~
2 H !I’R’I ﬁ & il ° (3) Jute bags and metallic bins
B) 2 & a¥ § oK Y | (4) Metallic bins

(4) wrg & =i grferat d : (5) Not attempted

(5) wur w8 2= @Ed
wﬂ?f SPACE FOR ROUGH WORK P.T.O.
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10.

Frafeafaa @ gafera &

-1 -1
AE T AWM i

A. iy I o
B. msht ———<—"_1 %rm

C. u&- 1. =
D. 7TRT><|V. RCES ||
(1) A-IL. B-IIIL. C-1. D-IV
(2) A-III. B-IL. C-IV. D-1

37 A-IL B-1. C-IV. D-III

11,

12.

(4) A-L. B-IV. C-1II. D-II

(5) SaT =& 21 9wy

e T B TG T T B At A e A
THT AT Her 2

(1) =5

(2) AT

(3) =H FH

(9) sifus

(5) JTT 7E AT 9ry

qE H WHE Sig @t

T E?

(1) -50 &=

(2) 30 &

(3) 40 a4y

(4) 25 It

(5) TOT T & 9

AT WEaH gl

13. Ty U9 geasag & o ¢

(1) < O *eg )

(2) 992 F M F WU BT 3
(3) @S Eal & GUT BT 39 B
(4) o= @ua &Y W E

(5) I & 7 4G

14. Frafafaa § § SF-91 Wamiies 27

15.

(1) sAwmred

(2) aeRgita ora

(3) TR

(4) |ifzgy FEEe
(5) vTx «EY A1 °@Ed

e Frefoftaa § @ fead sige 2 59
UTd g9 @) Wiwar &7

(1) =&

(2) ueghifam

(3) @
(4) drar

(5) ST 7 g1 =GEd

IKSHR / X3 / Page 4

10.

11.

12.

13.

14.

15.

Match the following :

Column-I Column-II
Name of the Movement
Animal
A. Snake I. Swim
B. Fish II. Slither
C. Bird 1. Walk
D. Cow IV. Fly

(1) A-IL, B-III, C-I, D-IV
(2) A-III, B-11, C-1V, D-I
(3) A-IL, B-I, C-1V, D-III
(4) A-I, B-1V, C-III. D-II
(5) Not attempted

Dark coloured objects absorb
than the light coloured objects
(1) less

(2) equal

(3) very much less

(4) more

(5) Not attempted

The minimum distance required by a normal
human eye to see the objects clearly -
A1) 50 cm

(2) 30 cm

(3) 40 cm

(4) 25 cm

(5) Not attempted

Pathogens are microbes which :
(B Cause diseases

(2) Spoil leather goods

(3) Spoil standing crops

(4) Spoil food

(5) Not attempted

Which of the following is an antibiotic?
(1~ Alcohol

(2) Sulphuric acid

(3) Erythromycin

(4) Sodium carbonate

(5) Not attempted

Anodising is a process of forming a thick
oxide layer of :

(1) Silver

(2) Aluminium

(3) Gold

(4) Copper

(5) Not attempted

heat
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18.

19.

20,

I ¥ i 1= / SPACE FOR ROUGH WORK
SHR/X3/ Page 5 e

e

prefafiad & @ @19 BR@N % way gensh a7
(1) it @t

(2) viTad Zar gl

(3) wa oz fue

(4) ARl &8 T

(5) It T8 &M A

e A 2 ggd weaye wiE ¥
w2 ¥, QU IR & Wl R

ORI RUSE

(2) ud &=

(3) gaTEh

(4) srf7 e

(5) Tux w0 =red

o g § fead (@) qrgaits fawr
s ¥

(1) 90-110

() 110-130

() 130-140

{4) 80-90

16.

17.

18.

19.

20.

How many total number of canals are there
under The Bhakra System' in Haryana?
(1) 472 Canals

(2) 528 Canals

(3) 452 Canals

(4) 521 Canals

(5) Not attempted

Where is IIIT. Haryana located?
¢1) Sonipat

(2) Kamnal

(3) Kurukshetra

(4) Hissar

(5) Not attempted

Who amongst the following was the first
Chief Minister of Haryana?

(1) Bansi Lal

(2) Bhagwat Dayal Sharma
(3) Rao Birender Singh
(4) Banarsi Das Gupta

(5) Not attempted

Fatchabad, is home to two very important
monuments. One is The Lat; which is the

other one?

(1) Humayun Mosque
(2) Dharamkshetra
(3) Banawali

(4) Arjuna Sthal

(5) Not attempted

How many (approximately) Community
Development Blocks does Haryana State

have?

(1) 90-110

(2) 110-130

(3) 130140

(4) 80-90

(5) Not attempted

2O,
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21. Pr=fafaa st o3 fam Hifo 21. Consider the following statements

A. @ § 8 werafts gurm E A. There are 8 Administrative Divisions in
B. dagar sfamm % wemafe wwri & @ Haryaha. ol B
wF I B. Panchkula is one of the Administrative
. Divisions of Haryana.
e o () ¥ § B w27 -
(1) B ¥ = Which of{the above statements is/are correct?
(2) A 3 B 3 (1) B only
(2) BothiA-and B
B)Far Ak & B :
4) A Faw (3) Neither A nor B
(4) A only

(5) wuT T & e (5) Not attempted

22, ﬂ?‘@ltﬁﬁaﬁﬁﬁﬁiﬁﬁﬁﬁﬁmmﬁmﬂﬁ i
22. Charkhi Dadri does not share border with

T ¥ 7 : = _
) . which one of the following?
@ WIE ‘I (1) Mahendragarh

_3) far (2) Jh-ajjar
(4) Rerarrs (3) Hisar

(4) Bhiwani

() T _"ﬁ & A (5) Not attempted

!

23. xﬁ'awna%‘r"m@m%? -
: 23. Which is the state flower of Haryana?

"(’15 m (1) Dahha-
ia
(3) Lo:Jlusr

('4) ?IET 4) Mangold

() e =r§{' S (5) Not attempted

24. g drer @,
sreamm ﬁ " 3= Rt s o 24. In which s(éar was the Pradhan Mantri Mudra

™ d? -
Yojana launched in Haryana?
)8 aﬁ‘a 2018 (B gth Aprll 2018
(2;/?3 :TS'& ?(1)17 ) 25th.Febmary, 2017
3 20 . (3) 10th March, 2011
b _ (5) Not attempted
25, ? ] \D
(;u;ﬁ:q ?ﬁ'@l W e e b 25. Tomb of dbrahim Lodi is located at :
2) S (1) P'anipfeitj
(3) worc () KaitHal
(4) P , (3) Jhajjar,
(5) vt 7E & a9 ¢9) Bhirgm
(5) Not attempted
__‘—_'_'_‘—‘——-
IKSHR / X3 / Page 6 T 14 & Y W / space FOR ROUGH WORK P.T.O.
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g1 e FE B g1l 3
26 EE?[T;,[ W g e
-1 A-11

A @ETE L @ﬁ%a

B, mmam Il e

C. z@Efa® Ao 1L S=mEn

p. ol AF IV. urfiug

S g o fawedl ¥ A 9 IaUH guw S

By A-IV. B-II. C-1. D-1IT |
2y A-IL B-IIL C-IV, D= |
(3) A-IIL B-L. C-IL. D-1V [
(4) A-L B-11. C-III. D-1V

(5) SwT e A ATEA e

i e T (o e o) % e A Preafifaa

27.
FeAl X faET #if preg
A. g% TF HA19 e giaw @9 )

B. 98 WA GX& & & HAT & Wi
W%I [t
srde § @ FE /A HUT wE R

(1) %=« B
(Q)-A &t B @l Ne)
@G)TAIRTEB o}
(4) aw A (»
(5) wax & I A9 o)
[
28. sﬁwﬁgﬁf@mﬁwwf%ﬂﬁ%?

(1) 2.00,00,000 — 3,00,00,000
(2) 3.00,00,000 — 3,20,00,000
(3) 3.20.,00,000 — 3,50,00,000
(4y 1,50,00,000 — 2,00,00,000,

(5) Tay 7E &= ared o
2, mﬁw»ggﬁqﬁﬁmm%?
(1) e tr _
(2) }m‘(‘rﬁr r—1
(3) T@mrEr i
(4) arat
(5) woe =@ &= arEd
30. ngﬁq%gﬁmﬂﬂrﬁ;mmﬁ
ffﬂ?r%? )
(1] m Oy
(2) st i
(37 w¥zrg e
(4) faar

26.

27.

28.

29.

30.

Match List-I Tourist Centres with List-II their

location.

List-1 List-II
A. Sky Lark I. Hodal
B. Damdama [I. Gurgaon
C. Dabchick I11. Uchana
D. Karna Lake IV. Panipat

Choose the correct answer from the options

given below :

(1) A-1V, B-II, C-I, D-IIT
(2) A-lI, B-III, C-1V, D-I
(3) A-111, B-I, C-II, D-IV
(4) A-I, B-1I, C-III, D-IV
(5) Not attempted

Consider the following statements in respect

of the National Security Guards (NSG) :

A. It is one of the Central Armed Police
Forces. o

B. It comes under the administrative control

of the Ministry of Defence, Government

of India.

‘Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

What is the approximately population of
Haryana" .

(1) 2,00,00,000 — 3,00,00,000-

(2) 3,00,00,000 — 3,20,00,000

(3) 3,20,00,000 — 3,50,00,000

(4) 1,50,00,000 — 2,00,00,000

(5) Not attempted Lo

!

Which is known as the "Cherrapunji of
Haryana"? oy

(1) Kosli .

(2) Chhachhrauli

(3) Rewari (=

(4) Thanesar
(5) Not attempted

The ancient Fort of Madhogarh is located in
which district of Haryana? :

(1) Hisar ¢

(2) Jhajjar %

(3) Mahendragarh -
(4) Sirsa

(5) Not attempted

b e
<5 @l B fera @I / SPACE FOR ROUGH WORK
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31.

33.

34.

35.

THa 9 945 sar (uas @) & an A

ﬁm%%m'cﬁua‘rwf%mﬂaﬁm

A. Ramn w1 o ug 2 frer % S ww 9
¥ st )

B. sftamm & st g & & soods & o wa S
¥ afts 2

. WaETor GET quT gade & R § wawr @

a1 &g 69 & W W sfEen @R 7 W
& forar &7

@) eI

(2) &t 99T @

(3) dfeq =

(4) & 35 @ =

(5) w9 7@ & Gwd

Frfafad waet at faam #if -

@ TS B TS W
2010 % gwmEr & wf@en @ s
&1 g9 e femar

TudE HUE H § B G g B

(1) Fa=a B

(2) A 3t B =t

BTAaRMAIMAEAB

&Had A
5) ST & 3 ared

4w Rkt At weaT @1 R st

A.
B.

ﬁﬂ@

(5) JaT FE I

ﬁﬁ&%ﬁ%ﬁﬁzaﬂffgﬁmvnmmﬁa
T

(1) =feo

(2) 5

(3) ufyam

(4) wat

(5) SOt = & ared

IKSHR / X3 / Page 8

32.

33.

34.

35.

. Consider the following statements about

Gross State Domestic Product (GSDP) :

A. GSDP of Haryana is more than that of
Bihar.,

B. GSDP of Haryana is more than that of
Uttarakhand.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

For recognizing the efforts towards
environment conservation and promotion,
Government of Haryana has introduced the
award in the name of :

(1) Shri Chaudhary Devi Lal

(2) Shri Bhajan Lal

(3) Pandit Jasraj

(4) Shri Darshan Lal Jain

(5) Not attempted

Consider the following statements :

A. Hindi is the official language of
Haryana.

B. Punjabi has been accorded the status of
an official language of Haryana in the
year 2010.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

Where is former Indian Test Cricketer
Virender Sehwag's Cricket Academy located?

(1) Panchkula

(2) Jhajjar

(3) Gurugram
(4) Faridabad

(5) Not attempted

Haryana does not surround Delhi on
which side?

(1) South

(2) East

(3) West

(4) North

(5) Not attempted

Downloaded from www.cclchapter.com
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30.

mﬁf@amﬁwﬁmaﬁﬁq:
A, e # 9 g sngee ¥
godad § @ BT WA HUT TE X7
(1) B ®= .
(@J A oiT B @
G)AAAATEB

(4) A Had

(5) TET TE A ATE

37.

1§, @ UG FEl Rad &7
(1) GAETER
(2) Fea
(3) fear
(4) faar
(5) wax E I =@

3. aﬁ!@ﬁm_ﬁru’tﬁsataﬁﬁméaém%?
(1) Framarsit ‘
(2) peht .
(3) W % '

(@) gEmaTil
(5) Ferx & . AEd

0. 7 et qu & qr aE D o 7
(1) sreqeror |
(2) @i
Q) wEw
(4) aferem
(5) weg =7 &= @

37.

38.

39.

40.

Which of the following is NOT a part of the
traditional attire for men in Haryana?

(1) Kamri

(2) Dohar

(3) Sopali

(4) Safa

(5) Not attempted

Consider the following statements :
A. There are five Police Commissionerates

in Haryana.
B. Faridabad has a Police Commissionerate

located there.
Which of the above statements is/are correct?
(1) B only
(2) Both A and B
(3) Neither A nor B
(4) A only
(5) Not attempted

Where is Brahma Sarovar located?
(1) Fatehabad

(2) Kurukshetra

(3) Hissar

(4) Sirsa

(5) Not attempted

Fomous sportsperson Yogeshwar Dutt 1S
associated with which sport? '
(1) Shooting

(2) Wrestling

(3) Javeline Throw

(4) Boxing

(5) Not attempted

In the dance form 'Loor', the word Loor
means?

(1) Ornament

(2) Music

(3) Crop

(4) Girl

(5) Not attempted

< & & fag @ / SPACE FOR ROUGH WORK
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- 0% % 2wt g3 & J Thd 41. The single discount equivalent to two
41 ;ET% suceessive discounts of 20% and 10% is .
(1) 25%
(1) 25% »
‘.") 28% L (2) 28% )
3) 2% : () 27%
4 0% o (4) 30%
- !f £ i
(5) I T e (5) Not attémpled
!

TR FAa §Es A, B, C 3 D & sirgw

42.

-

- i The average ?f four consecutive numbers A,
49.5 ¥ §@ B, 3R D &1 % F1 E? 8, C and D;;_is 49.5. What is the product of
() 2450 : i

(1) 2450
Q) 2352 |
2) 2352
(3) 2550 s L
(4) 2499 P
) BN (4) 2499 .-
(5) ST 7 & = M
e (3) Not attempted
. .

43.

2 8000 %t Rn'5% aifiie wmaf e @ o

W e adt F T 9261 B o, sy s
s FaTore eram & ?

43.

i

In how many years will a sum of ¥ 8000
at 5% per dannum compound interest,
compoundef;l}}?nnually becomes T 92612

s © ms &
2 ty £
(2) 4_ o..__1 2 El. &
t— ;. Yo
E fr- ) 3
3
\g €
] 3 o
&) 3z © 1 o

e

(5) Not attémpted

IKSHR / X3 / Page 10
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44, 5o WA O wEmn, w12, 15 it 18 @

45.

46.

_-__——_-___._—.___—._'_'__‘__,_._——'—_
IKSHR / X3 / Page 11

feifora %, B1R

(1) 10,015

(2) 10,020

(3) 10,080

(4) 10,010

(5) TAT T T A

2x31x5%, 22x32 x5 x7 air

24 %x3¥x5x7%2 %11 % HCF %
(1) 22x3%x5x7x11

@) 24x34x5°

3) 24x3*x5°x7x11

@) 22 x3%x5

(5) saT & 1 qEd

2 9.30 iy feeim am@ 1§ @ fEH T FIN
H N A 8:7 % orgua ¥ framan wan AR Frs
a1 7 2 10 sy Rt &, A GHC S & T
&1 qFa i feeo @ E 7

(1) T 10.60

(2) 7 10.80

(3) T 11.00
% 10.30

44.

45.

46.

The smallest 5-digit number which is exactly
divisible by 12, 15 and 18 is :

(1) 10,015
(2) 10,020
(3) 10,080
(4) 10,010
(5) Not attempted

The HCF of 22x33x5°, 22 x32x5%x7

and 24x34><5><72><11 is

(1) 22x3%x5x7xl11

2) 24x3%x5°

(3) 24x3%x5° x7x11

(4) 2:)«:32 %5

(5) Not attempted

Wheat at ¥ 9.30 per kg is mixed with another
quality of wheat in the ratio 8:7. If the
mixture so formed be worth ¥ 10 per kg,
what is the rate per kg of the second quality
of wheat?

(1) ¥ 10.60

(2) ¥ 10.80

(3) T 11.00 .
(4) ¥ 10.30

(5) Not attempted

<% &1 & Y ¥ / SPACE FOR ROUGH WORK
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47. a:b%mwﬁ@%mwmm

AT c:durg &), & :

ac + bd
c+aq

(1)

ad % be
c+d

()

ad — be
C_—d

(3)

h abiwod
O
(5) v wé & A

48. et Tfr &t 3:5 F s & Renfr Rear man

aft we1 WM T 75 %, @ R -
(1) T 130,
) 2 150"

3) %240
(4) T 120
(5) vt & I awd

49. % 0<x <1 & @ Prx A 3wt @
Sic U e

(1) x2 [
2 &
@ -

1 Exs
«3) 2 2=
(4) X 1, y

47. The number that must be added to each term

48.

49,

of @ : b 50 as to get the ratio ¢ : d, is :

ac + bd
c+a

(1

ad + be
c+d

(2)

ad — bc
c—d

)

ab-cd
a-b

(4)

(5) Not attempted

A certain sum is divided in the ratio 3:5.
If the greater part is T 75, then the sum is :
(1) T 130
(2) 2 150

(3) T 240
4) T 120 i,
(5) Not attempted

If 0 <x <1, then the gféjgitest 'number among
the following is : e

(1) 42

—— g e e
3 3 -+ ki

1
@ <

-
(3) 2
“4) x s
(5) Not attempted ke
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1
50. A can complete —

51.

52.

B of a work in 5 days and

2 :
B can complete 3 of the same work In

10 days. In how many days both A and B
together can complete the work?

4
g8~
(1) 5

3
s
(2) 3

3) 10

1
@ 73

ol

(5) Not attempted s

A motorist travelled between two towns,
which are 65 km apart, in 2 hours 10 minutes.
The speed in meters pe1:_mmute is:

(1) 500
(2) 600 "
(3) 700
(4) 200
(5) Not attempted e

A and B started a busmess by investing
¥ 85,000 and Z 15,000 respeclwely In what
ratio, out of the following, their profits will
be divided after one year?

a 35 To,
@) 153 =
@) 17:3
@) 3:4 -

(5) Not attempted

50.
D=
mﬁ?Btﬁﬂﬂ'ﬂ#mgm 10 R & &7
gadl &l A 91 B 3 e @ ww @ @
for T ¥ qu BT wa ¥2
) -
) 85 |
@ %3 =
3) 10 %
1 %
@ 75
(5) suT 7E I A -
51 TF e aew, A 9w, s d @ g
65 it %, &% &g e A 2. 652 10 e @
1 gt iy Her ufy fee
(1) 500
(2) 600 .
(3) 700 =
(4) 200 =
ORUE RS o
52. Aqu B ¥ wmar: T 85,000 T T 15,000 T
F AR ey Rear| o a4 & aE, P A |
9 s & e am ar S ?
(1) 3:5 r:_—"‘
@) 15:3 5
#3173 ==
(4) 3:4 e
() S & ¥ 9
-\‘—-—-—'—"-'-—-—-__
KSHR / X3/ Page 13
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S A e
a 2 ) «rfﬂ/‘}, 1) 2
@3 el TG
(3) 4 " A (3) 4
(4 1 ﬂj’“# @ 1
(5) IET 7 %HT red = } (5) Not attempted

3 c¢m can be cut

54, 18 A O A TH THI B O g & @, 3 &0 | 54. How many cubes of edge
YT AT fpay = @1 E'n‘ qEd %I? out of a solid wooden cube of edge 18 cm?

(1) 216 (1) 216

276 | (2) 6

(3) 218 - (3) 218

4) 36 @ 36

(5) v E & =@ (5) Not attempted

55. afz 3 =1.732 @1 2 =1.414 & 55. 1f 3 =1.732 and 2 =1.414, then

1 . g |
Fe T - g el
I 9206 ' (1) 0.308
@y 0318 (2) 0.318
2.146
w2 (3) 2.146 |
4) 0.064 , t
( (4) 0.064

(5) TOT TE A1 AT
(5) Not attempted

—
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§6. afz A + B @1 & #, 'A. B @7 g 3y 56. If A + B means 'A is brother of B'.

- 5 ! B U 2
A-B@ ad 2 A B 3 uf & A — B means 'A is the husband of B'.
A xBar ad ¥ 'A, B foar ¥/

APxQ+R-SwHanft. A x B means, 'A is the father of B'.

Then P x Q + R =S means :

@ Q. S&FHufg & -

r (1) Q is the husband of S
(2) S. P @ ue=h & : '

; (2) S is the wifeof P
(3) P.S & fyar % 1 - e b Y

(3) P is the father of S

(M - g (4) P is the father-in-law of S
(5) s - amé' (5) Not attempted ~

57. S SIS AT % WYE F srorafian mm 4 frar | 57. A set of English letters is given below in a
T ¥ denEl & IR HAeE @1 waa a1 Pk jumbled order. Select the combination of

A At w oraftaa @ gy vy sy gre numbers so that the letters arranged
‘ accordingly will form a meaningtul word.

|
TOARHU IO ARHU
1 23456 1 23 4 556
(1)3,6,1,4,5,2 (1) 3.6, 1.4, 5.2
(2):3, 6,1, 5,2, 4 2) 3.6, 1,5,2'3
(3) 2, 4, 5. 1. % 6 (3) 2.4.5.1,3.6
44,2, 1,6,3,5 4)4,2.1,6 ,“5,
(3) Not attempted

(5) s 7Y & a@red

[ G

58. Choose the option: which is related to the

58. 38 fewwr @1 wga Hifg, W dEL 9% § IE third term in th h d
e ~ : ~ 1T crm 1n € same way as the secon :
W&m“;m ¥, Ry werd qEU 98, TE T N term is related to the first :
' Pen : Write 75 Spade : ?
U-)'::n S e 3 (1) Dig S
(2) @ '::‘ %) e e
) T _: (3) Guard il
4) e o S
S (5) Not attempted
() St & T @
IKSHR / X3/ Page 15 - % & forg ¥ / SPACE FOR ROUGH WORK . P.T.O.
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Sg_ﬁt{qmaﬂqm‘
(1) e
(2) fearT
«3) foraiam
(4) o
(5) sat TE ¥ A

60. 3 HoA 9T 3ES @’ A Frapd 1 i 11 R o
¥ | fRu o B B T A U AR S g
o aedt & = & w1 vl € E, Pk et

fs @ @/d e o T wee & emar wo
aegTa ®9 ° Frean ¥ /freag ¥

T W ARl dh ¥

T WETEr ad ¥)

D- Fo wREr Tewr ¥)
() %o uda =Rt ¥

(1) waw frepd 11 Freear )

(2) Tremd 1 of 11 9 Prae )

(3) 7 @ frad 1 aft 51 & 11 Fraserar 31
M Faw Frapd 1 e 3

(5) TT & FFA1 =S

frerd .

mgwmlw@%mmw%w

A AN T g fey faem K ar?

O

(2) ufyem

(3) TE—afyaw

(4) =iy

(5) TaT =& T a=y

62. a@»{@mﬁmmaﬁmaﬁm=
143, 149, 158, 170, , 203
185

(2) 190
(3) 192
(4) 182

(5) T AE T awy

IKSHR / X3 / Page 16

59.

60.

61.

62.

Choose the odd one out :
(1) Quintal

(2) Kilometer

(3) Kilogram

(4) Gram

(5) Not attempted

Two statements are given, followed by two
conclusions I and II. Assuming the staten_lems
to be true even if they seem to be at ]
from the commonly known facts, decide
which of the conclusions logically follow(s)
from the given statements :

Statements : All rivers are mountains.

All oceans are mountains.
Conclusions : (I) Some rivers are oceans.
(I) Some mountains are
rivers.
(1) Only conclusion II follows.
(2) Both conclusion I and II follow.
(3) Neither conclusion I nor II follows.
(4) Only conclusion I follows.
(5) Not attempted

Early in the moming after Sunrise, Sunny
was standing facing a pole. The shadow of

the pole fell exactly to Sunny's right. Which
direction was he facing?

(1) East

(2) West

(3) North-West
(4) South

(5) Not attempted

Find the missing number
143, 149, 158, 170,
(1) 185

(2) 190

(3) 192

(4) 182

(5) Not attempted

in the series :
— ., 203

(w3 s, B8 (o
-—’r;éiﬁ’ T+ 4
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63. Tl ad ¥ wiref o <o R Tare o, o T

b ST WEN &7 aifaw R @ a7 ?
(1) gwart

(2) st

(3) aam

(4) IeaR

(5) SR =& |7 Awd

64. B @R X, Y, Z, M, N siit O et 3t oi g
& s Uled H 43 &, afpT amasas wi & R
ot w9 A €17, X ol N 3 b e B
M R T T BLY, N % A @ B

O 7 Ft T B1 M % v @i 2
() ZaRY

2) O 3t X

(3) O 8T N

(4) X et N

(5) wat =& T and

65. aft wE gz Wit & 'VIETNAM' &1 32
'WKFVOCN' , it & gz wrar & 'BRITAIN'

%! forw weme ferar s ?
(1) cTiwcIp
©) cTiveko
(3) cTIuCIP

@) CTIWBKO

63.

64.

65.

The fourth day of March in a year was
Thursday, what was the last day of the next

month in that year?
(1) Friday

(2) Saturday

(3) Sunday

(4) Thursday

(5) Not attempted

Six persons X, Y, Z, M, N and O are sitting
in a row facing towards North but not
necessarily in the same order. 'Z' is sitting
between 'X' and 'N'. 'M' is not at the end. 'Y’
is sitting immediate right to 'N'. 'O’ is not at
the right end. Who are the neighbours of M?

(1) Zand Y
(2) O and X
(3) O and N
(4) X and N
(5) Not attempted '

If in a code language 'VIETNAM' is coded
as 'WKFVOCN!, then how will 'BRITAIN'
be written in the same code?

(1) CTIWCJIP
(2) CTJVBKO
(3) CTJUCJP

(4) CTJWBKO
(5) Not attempted

(5) 3o 78 21 e
IKSHR /X3  Pagerir. Wﬁr&gﬁmwﬁ/SPACE FO?_ ROUGH WORK 2 P.T.O;
VIcTpam  gRITAM® O L
“ktvocw  ,aqgps? CTIVAER
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@y T g/ BU T -
66. '@91+am=r'%u‘mﬁaﬂﬁwwma'gm g

(1) ==
kil (2) 9 —
(1) FE ¢
(2) FmaTET " (3) 7= ﬂ
(3) B (4) & -
(4) HemET - (5) wET TE A aﬁﬁ

(5) wax T A A

et 72,@&;&%&?—&1&@&@@%?

67. ‘BYEN EW ug @ sfud e ¥ - (1) &=
(1) faftrar gow i (2) g
(2) BT ToW s () T
(3) ®w god = 4) gie :
(4) Fiwa gew N (S)Wﬁ&mamﬁ

(S)Gm'qﬁimms% |

73.%%1?%@?—313% HABIT &I TH WS
GS.EQWQErmmEmﬁﬁxnﬁﬁlﬁfmmgﬁm Y ?

T gon ¥ 7 : Q) et
¢)) Eif}ﬁﬁ FHL@ar @ %thé T s B 2) FemTE 5
(2) T8 @er, ¥ ot A = | ‘(i) STy ok
(B)Wﬁg%wﬁ%tl_] ()Wﬂ:hmtﬂ
(4) gu fom s H wA@? (5) v [~

5 TE AT aEd
e 74. ‘wifqETES’ = & fu Gaitue suge

69. ‘WEEA 4% HEA F {0 FUGE g & — i ¥ - O
(1) =g dig=m =) (I)Wmﬁwﬁm
() g 7 @t TW | (2) T TR % g
(3) o HE BT [ : 3) Wm%%ﬂfﬁa
(@ﬁmzﬂmﬂmwij' (4)‘1%5!5“‘731’@@%3@&43
(5) TuT i 0 9mEd (5) IaT & T awd

70, Ry gr % waitus SugE qatETE g - | 7o WW%WWWWQE%_
(1) ﬁ:ﬂf 2 m Enmﬁrcﬁ o
(3) Slﬁmﬂ e (3) srfwitya A
(4) =TT * (4) wiva [~
(S)E-ﬂxwﬁimam*f (5) wwx é I A@wd
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fpa 291 Jad 2023 § yrg § W-20 Y aregerr

T @ B &7
(1) ERLEL ¥
(@ FERT o

3) i -
4) ZfoT STRIET (7
(5) X TE & e
Lt |
78, <R I AT B B (o) # ferehy
FTae® IHEAT & °

— —
—

(1) &
@ i N
@) @ ionf
(4) v v
(5) waY T &-—na@

-
.

7. freffeaa ¥ & frg, g &t o @1 we
FEAME? e
(1) #tew
(2) Hurera
Q) s weor

() o e
W. Pt 21 g @i

A. TR FAE . 1918
ati I 1919

: 1. 1922
gra TG arrarery V. 1930
1 0 Rty gt g
Q) A-HI, B-II, Cf, DIV .

() AL BV, Ou1, D-II

-I”, B-]’ (’,_:_-“’ D_]V

B GV -
5) Ty o -1

11

qrEd '
KSHy , .-ACE FOR ROUGH WORK
xafpage 19 forg T / 5P

T & #

76.

77.

78.

79.

80.

Civil Rights Movement of 1950's put an end
to social discrimination. From where did the
movement begin?

(1) UK.

(2) FRANCE -

(3) GERMANY

(4) US.A. |

(5) Not attempted

Which country has taken over the
Presidentship of G-20 from India in the year
20237 _
(1) Canada -]
(2) Bangladesh "
(3) Brazil e
(4) South Africa
(5) Not attempted
1
How many functional units are there in
Indira Gandhi National Centre for the
Arts (IGNCA)?
(1) Seven
(2) Nine Lo
(3) Three —
(4) Five pal
(5) Not attempted
Which of the Ig}lowing states is known as
'Sandalwood state of India'?
(1) Karnataka'
(2) Meghalaya
(3) Uttar Pradesh
(4) Chhattisgarh,
(5) Not attempted

Match the foll:‘c')j‘iéring :

ListI = List-II
A. Rowlatt Satyagraha 1. 1918
B. Civil disobedience 1. 1919

movement
C. Mill workers' strike  IIL. 1922
D. Non-cooperation IV. 1930

movemert-’
Choose the correct answer from options
below : .-
(1) A-lIL, B-IL'C-I, D-1V
(2) A-ll, B-IV, C-I, D-II
(3) A-lIlL, B-I; C-IL, D-IV
(4) A-Il, B-1, C-1V, D-II
(5) Not attempted

P:T.O.
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P""

dia was the first one to

. in In
. Which State 11 o
g1, @ A fpg Tod H HETE Hom AT e o 81. int;’duce Mid day meal scheme:
» T[é eﬂ? (1) Tamil Nadu
(1) AFTTS 2) Karnataka
2) Eﬁ-‘-ﬁ'Z_CH (3) Andhra PradeSh
() SN i 4) Kerala
@ s (5) Not attempted
(5) X T & A
' 82. Which is the second largest continent after
82. % fra ¥ it ¥ A g §A qF Asia in terms of area?
weTd B E (1) Australia
(1) smefe (2) Africa
(2) sarT (3) Antarctica
(3) Hil?iiﬁﬁﬂ (4) Europe
(4) T (5) Not attempted
(5) wa< & A1 9ed
T RE 3 83. The National School of Drama (NSD) was
83 i ( ) e fr set up in which year?
& ! (1) 1975
(1) 1975 ol
1 T 3) 1950
(3) 1950 3)
(4) 1976 (4) 1976
(5) SaT 7& AT Ared (5) Not attempted
84. arHEAN SR & ad 48 fear mar sa feaE 84. Non-cooperation movement was called off
3 Prfafag & & feg am § smn & & 6 ? when peasants set fire to a police station in :
(1) = =@ (1) Chauri Chaura
(2) =9 (2) Champaran
(3) erEHeTER (3) Ahmedabad
(4) @31 (4) Kheda
(5) TaT i & 9w (5) Not attempted
85. EHT(T argaee e @i 4 faefa 7 85. g;;r:‘t)mosphere is divided into how many
(1) 9= :
(1) Five
2) 9d
23; A (2) Seven
4) & (3) Nine
Esi e i & e (6) Bight
(5) Not attempted
IKSHR / X3/ Page 20 < @ & R1 WM / SPACE Fom rovenwork T —————
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86. 9 Tz Reerd) 4 Wi g dar % ferg | 86. Famous cricketer Ben Stokes plays

frtbz drer L international cricket for which country?
(1) =phiers (1) New Zealand
) s (2) England
3) seferan (3) Australia
@) ¥I=Fhw (4) West Indies
(5) SO T I ey (5) Not attempted
i T 87. In which year did the Congress and the
& ﬂf’:@%ﬁmwm% HERY 9 Muslim lcj;:guc sign the Lu!:c,:know pact?
(1) 1909 (1) 1.909
2) 1915 (2) 1915
(3) 1916 (3) 1916
(4) 1906 (4) 1906
(5) IAT &l 9T WEy (5) Not attempted

88. In Mahatma Gandhi National Rural

8. e e T arfo TSI Ty aiffram, Employment Guarantee Act 2005

2005 (FTTEM) H WRA wRaR ¥ af #F fray (MGNREGA), how many days of

e & o & TSy & 22 employment are guaranteed in a year by
1) 75 = the Indian Government?

(2) 100 ﬁﬁ' ) (]) 75 Days

(3) 90 ey (2) 100 Days

4) 120 fie (3) 90 Days

(4) 120 Days

(5) ST =& 3= =ed (5) Not attempted

Y. o =l F ad 2019 ¥ firg wRa @ B [ESER 89

- Who won the 'Bharat Ratna Award' for year

e ? 2019?
(1) yg @it (1) Pranab Mukherjee
(2) = P EITaT (2) Dr. Bhupen Hazarika
3) . do.am. T ' (3) Prof. CN.R. Rao
(4) e RiftaeTe @ ' ~ (4) Ustad Bismillah Khan
(5) Tare T8 2o e (5) Not attempted
9, B e i 37 90. (Vlu/)hilc:ldit;i;d dges not make its own nest?
1 an robin
Ez) It e | (2) Koel
) T (3) Tailor bird
3) wehi fafear (4) Weaver bird
g) T fafsagy (5) Not attempted
) TR 78 2 R '
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91.

92.

94.

95.

Change the following sentence to indirect

speech.

He said. "Nambiar works hard."

(1) He said that Nambiar was working hard.

(2) He said that Nambidr had worked hard.

(3) He said that Nambiar had been working
hard. il

(4) He said that Nambiar \\.()I‘I\Ld hard.

(5) Not attempted -
=

Choose the correctly (spelt word :

(1) incradulous

(2) incredulous

(3) incredulus

(4) incradulus Lo

(5) Not attempted
@)

. Pick out the part ofsthe sentence which

has an error. If there i§~no €ITOr, your answer
is '3'

The \\hole block of ﬂats /

A

including two shops were /
B ;

destroved in the earthquake.
B (@)

() B ()

(2) C a)

(3) No error -

4) A —

(5) Not attempted [~

Choose the alternative which best expresses
the given sentence in Passive Voice.

Must we cut this treé2”

(1) Must this tree was cut?

(2) Must this tree be“cut?

- (3) Must this tree is cut?

(4) Must this tree will-cut?

(5) Not attempted 1

f-..

Find out the synonym of the underlined word
in the following sentence.

Colours, like features) follow changes of

emotions. D
(1) movements (-
(2) sentiments an

(3) under-current [
(4) moments -y
(5) Not attempted [

96. Replace the underlined word/phrase with an

97.

98.

99.

alterpative to make a grammatically correct
sentence. {

"The ladder will be collapse if you push the
wall with both the hands.

(1) will have collapsed

(2) will have been collapsing

(3) No change 1

(4) will collapse !

(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlmcd idiom.

Our hockey team scored lhe winning goal
at the eleventh hour.- ™

(1) at a crucial time- .'

(2) before an hour .

(3) at the last minute-

(4) in the beginning

(5) Not attempted

Fill in the blank With"correct form of verb.
Neither of the two men very strong.
(1) was -
(2) will be f“__"“
(3) shall be Lﬂ;

(4) were
(5) Not attempted

Arrange the followmg parts of the sentence
to make a meaningful sentence.

A. to understand C‘j’}

B. to many people(

C. threatening and’ eVen impossible

D. grammar appears

(1) BDCA [f'
(2) DACB bt
(3) ADBC

(4) CABD -
(5) Not attempted

C )

100. Find out the antonym'of 'democracy’.

(1) republig o

(2) delicacy P
(3) monarchy r
(4) popular J
(5) Not attempted
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